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Reciprocal Teach:

Partner A - What 1s a zero
pair and what does 1t do?

Partner B - Explain how the

example shown at left shows
addition.
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How do we remove tiles when
the value of the space does not
have those tiles available?

IWhen e A ont .
Ahove cayailable e,

we coh add
=Z¢vo 'Pav's .




130 - Subtracting Integers.GWB - 4/6 - Wed Jan 15 202




130 - Subtracting Integers.GWB - 5/6 - Tue Jan 14 2020 15:36:37

How do we remove tiles when the value of the space does not have those tiles available?

Aold 2eD IPQ.N'S




Evaluate each expression. Draw tiles to represent each.

2 +(-5) 1 —(=3)




